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Comparing Coupons



Coupon A
Coupon B
Coupon C

May’s Market gives these three discount coupons to each customer.

1. Jamal wants to buy a $12.00 item.

a. 
How much would the item cost with Coupon C?

b. Which coupon gives the greatest discount?

c. 
How much will the item cost after this discount?

2. Sam bought a $40.00 item for $32.00 with the discount.

a. 
Which coupon did he use?

b. How did you figure it out?

3. Sheila is buying three items. The prices are $5.00, $10.00, and $20.00. She will use one coupon for each item.

a.  
Which coupon should she use for each item to get the greatest total discount?

b. What will be the cost of each item after the discount?

c. 
How did you figure it out?

Comparing Coupons: Teacher Notes

Goals:

Problem 1: Compare discounts written as numbers, fractions, or percents

Problem 2: Identify the discount from an original and discounted price.

Problem 3: Apportion discounts written as numbers, fractions, and percents.

Assessing Student Understanding

Problem 1: 


Solutions:

a. $9.50: $12.00 – $2.50 = $9.50

b. Coupon A is best. A discount is 25% x 12, or $3.00; B discount is 1/5 since the cost is 4/5 , 1/5 x 12, or $2.50; C also gives a discount of $2.50.

c. $9.00: Since the discount is $3.00, the item costs $12.00 – $3.00, or $9.00.

Rating the Solutions:


3: All three solutions are correct.

2:  Two of the three solutions are correct.

1: Only one solution is correct.

0:  No solutions are correct.

Problem 2:


Solutions:

a. Coupon B: 4/5 x $40 = $32.00

b. A discount is 25% x 40, or $10.00, item costs 40 – 10, or $30.00; B, the item costs 4/5 x $40, or $32.00; C, the item costs 40.00 – 2.50, or $37.50. Only Coupon B gives a final cost of $32.00.  

Rating the Solutions:


3: The solution is correct and the explanation is clear and correct.

2:  The solution is correct and the explanation is correct but not clear.

1: The solution is correct but the explanation is incorrect or missing.

0: The solution and the explanation are incorrect or missing.

Problem 3:

Solutions:

a. $20.00 item, use A; $10.00 item, use B; and $5.00 item use C. 

b. The $20 item costs $20 – 25% x 20, or $20 – $5, or $15.00; the $10.00 item costs 4/5 x 10, or $8.00, and the $5.00 item costs 5 – 2.50, or $2.50.

c. The greatest discount is the 25% discount in Coupon A; Coupon B gives a 1/5 (1 – 4/5) discount, which is 20%; the $2.50 discount is smaller than the other two for any item that costs more than $10. So, to get the greatest total discount, use the 25% on the $20 item, the 20% discount on the $10 item, and the $2.50 on the $5 item.

Rating the Solutions:

3: Both solutions are correct and the explanation is correct and clear.

2: Both solutions are correct but the explanation is incorrect or missing. 

1: Only one solution is given and the explanation is incorrect or missing.  

0: Solutions are not correct or are missing.

What to do next:

1. Total the ratings for three problems.

2. Based on total scores, direct students to Intervention or Extension Problems.

6 – 9 points: Assign the Extension 

4 – 5 points: Assign Intervention 2 followed by Extension

0 – 3 points: Assign Intervention 1 followed by Intervention 2

Solutions for Interventions and Extensions

Intervention 1: Discount Dollars

1. a. A: Discount $3, Cost $7; b. B: Discount $3.33, Cost $6.67; c. C: Discount $3, Cost $7
2. a/b. Best is B: A: Discount $3.60, Cost $8.40; B: Discount $4, cost $8;
 C Discount $3, cost $9
3. a/b. Best is B or C: A: Discount $2.70, cost $6.30; B: Discount $3, Cost $6; C Discount $3, cost $6

Intervention 2: Discount Deals

1. a. 

Extension: Discount daze

Intervention 1: Discount Dollars



Coupon A
Coupon B
Coupon C

Sue’s Sales gives these three discount coupons to each customer.

1.
Calculate the discount and cost of a $10 item for each Coupon.


a.
For Coupon A: Discount = ___, Cost = ____?


b.
For Coupon B: Discount = ___, Cost = ____?


c.
For Coupon C: Discount = ___, Cost = ____?

2.
a.
Which coupon will give the greatest discount for a $12 item?


b.
How did you figure it out?

3.
a.
Which coupon will give the greatest discount for a $9 item?


b.
How did you figure it out?

Intervention 2: Discount Deals



Coupon A
Coupon B
Coupon C

Sue’s Store gives these three discount coupons to each customer.

1.
a. 
What fraction of the original price would be the same as the percent discount in Coupon A?


b.
How did you figure it out?

2.
a.
What percent discount would be the same as the fraction of the original price in Coupon B?


b.
How did you figure it out?

3.
a.
Which coupon will give the greatest discount for a $20 item?


   b.
How did you figure it out?

Extension: Discount Daze



Coupon A
Coupon B
Coupon C

Sue’s Store gives these three discount coupons to each customer.

1.
a. What fraction of the original price would result in the same sale cost as the percent discount in Coupon A?


b.
How did you figure it out?

2.
a. What percent discount would result in the same sale cost as the ¾ of the original price in Coupon B?


b. How did you figure it out?

3.
a.
For what prices of items would coupon C be the best deal?


   
How did you figure it out?

   b.
For what price item would A save $30 more than B?

Sam’s Store Coupon





40 % OFF any one item





Sam’s Store Coupon





Pay only 3/4 the price of any one item





May’s Market Coupon





$2.50 OFF any one item





May’s Market Coupon





Pay only 4/5 the price of any one item





May’s Market Coupon





25 % OFF any one item





Sam’s Store Coupon





$9.00 OFF any one item





Sue’s Sales Coupon





30 % OFF any one item





Sue’s Sales Coupon





Pay only 2/3 the price of any one item





Sue’s Sales Coupon





$3.00 OFF any one item























Sam’s Store Coupon





40 % OFF any one item





Sam’s Store Coupon





Pay only 3/4 the price of any one item





Sam’s Store Coupon





$9.00 OFF any one item
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